TIME SPEED DISTANCE & TRAIN BOAT SET-1 BY ALOK SIR

1. A man rows to a place 60 km distance and back in 13
hours 30 minute. He finds that he can row 5 km with the
stream in the same time as he can row 4 km against the
stream. Find the rate of the stream.

Ueh STk 60 TeRtit. el Tl deh A9 TTeRT STTaT ¢ 3T 13 =i 30 fume
H QI 37T ¢ 98 <@dT § o YaTg o 91 3a+ 96 U 5 feput.
Heral & TSTa- 90e | a8 Ui yarg § 4 Tt 1 gehdr &1 wamg & i
ST

(a) 8 km/hr

(b) 1/2 km/hr

(c) 10 km/hr

(d) 1 km/hr
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2.

A motor—boat covers a certain distance downstream in
a river in 3 hours. It covers the same distance upstream
in 3 hours and half. if the speed of the water is 1.5 km/h,

then the speed of the boat in still water is :
Teh TIeY A 41 | el U8 § &9 gl 3 U | a7 wvet § 3T
uﬁwmﬁmﬁﬁgﬁ3%ﬁ%ﬁwaﬂﬁ%wﬁuﬁraﬁﬁ 1.5

fert /sieT & aY e STaues § siie ot i &= 2
(a) 17 km/h

(b) 17.5 km/h

(c) 19.5 km/h

(d) 19 km/h
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3.

A boat running upstream takes 5 hours and 40 minutes
to cover a certain distance, while it takes 3 hours to
cover the same distance downstream. What is the ratio
between the speed of the boat and speed of the water
current respectively ?

Teh 7TE &R o Wtdghet Trerd §U Ueh iy gt ol I o ok T 5
He 3T 40 Tie St §, o IUAE | 98 SH g ol 3 6 7 U
T AT 1 TS it ITfr TR AT <kt TTf ok Siter Rt TTUTT -1 2RI
(a) 13 :4

(b) 20 : 1

(c) 19:2

(d)1:19
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4.

The speed of a boat downstream is 15 km/hr and the
speed of current is 3 km/hr. Find the total time taken by
the boat to cover 15 km wupstream and 15 km

downstream.

Teh TS ohi TTTd &RT o 3T 15 Teormt/sier § 3T amr =kt 1fa 3
et /eieT ®1 & o faudia 15 Tt 3K o o 3t e 15 fertt aht
T T A U A bl hel feha T G0 T

(a) 2 hours 40 minutes

(b) 2 hours 42 minutes
(¢) 3 hours 10 minutes
(d) 2 hours 30 minutes
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5. The water in a river is following at the rate of 4 km/hr. If
the width and depth of the river is 8 m and 4 m
respectively,then how much water will enter the sea in
15 minutes.

Teh St | Tt 4 foRHt. /o2 ot 9 | &g &1 71 afs & @t =iret i
TGS ShUIT: 8 HieT 3R 4 HieTd al 15 Tasie o fehamm urit s W wawr
N

(a) 600000 m>

(b) 18000 m?

(c) 28800 m>

(d) 32000 m>
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6.

A man rows to a place 35 km in distance and back in 10
hours 30 minutes. He found that he can row 5 km with
the stream in the same time as he can row 4 km against
the stream. Find the rate of flow of the stream.

Teh ATtk 7ol | 35 Terml. st gt =t 311 3T S # 10 HeT 30 firme
T &1 9% UTar § foh foas 9w o 98 & o 9rey 5 fertit a2 shiar &
I BT HHA H I8 ORI o ey TRt T30 AT 81 &RT ol 98T ¢ AT
i

(a) 1 km/hrs

(b) 0.75 km/hrs

(c) 1.33 km/hrs

(d) 1.5 km/hrs
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7. A man rows 12 km in 5 hrs against the stream and the
speed of current being 4 kmph. What time will be taken
by him to row 15 km with the stream?
ek SferT Ufd WaTg U A1 | 12 fertito @t gt 5 ¢ W a9 ohidT &,
e g it Tifa 4 feRsfto wfer sieT €1 92 3ryeTe ® 71 ¥ 15 fewtito
&1 gt Tehat W0 W 0 M7

(a) 1 hrs 27 1 min
13

(b) 1 hrs 24 1 min
13

(c) 1 hrs 25 1 min
13

(d) 1 hrs 26— min
13
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8. A boat moves downstream at the rate of 1 km in 7 1 min

and upstream at the rate of 5 km and hrs. What is the
speed of the boat in the still water?

@ﬁw7%ﬁwﬁ1wﬁﬁﬁﬁaﬁmﬁmﬁ%&msﬁﬁ

5 fertito it TIfa W SO TaTE H STat &1 TR STet ¥ HAYeht ol i fema=it
Bt?
(a) 8 km/hrs

(b) 6% km/hrs

(¢) 4 km/hrs
(d) 3% km/hrs
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9. A person can row a distance of one km upstream in ten
min and downstream in four min. What is the speed of

the stream?

ek ST 8T ok Widenet 1 Tertio i 10 Tiee W a9 Sh¥aT § 99T &7
ot oo o Sat &t gl 4 Tie O 9 oaT §, 9 a7 okl Td A1d i
(a) 4.5 km/hr

(b) 4 kmm/hr

(c) 9 km/hr

(d) 5.6 km/hr

STAY HOME STAY SAFE By Alok Gupta Sir




TIME SPEED DISTANCE & TRAIN BOAT SET-1 BY ALOK SIR

10. The speed of a boat along the stream is 12 km/hr and
against the stream is 8 km/hr. The time taken by the boat
to sail 24 km in still water is

& <kt TooTT & 1 okt e 12 feredft/sieT € 3f e o yiceset =rer sht
Tfa 8 TRt /sieT &, f Nid 5ieT | 24 fertito Tt 99 &t | TS ahl
feraT wo= Tvm?

(a) 2 hrs

(b) 3 hrs

(c) 2.4 hrs

(d) 1.2 hrs
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11.

The speed of a stream is 3 km/hr. and the speed of a man
in still water is 5 km/hr. The time taken by the man to
swim 26 km downstream is :

&I okt 7T 3 TeRTlt /e § IR 9T 7T § Weh safar okt 7Tl 5 TeRtt /=ie

&, At e wht fawm o 26 ferrft it g femer wmar o oiom

2
a) 8 — hrs
(a) 3

1
b)3—h
(b) 4lc's

(c) 13 hrs
1
d)5=h
(d) 5 rs
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12. A boy can swim in still water at a speed of 10 km/hr. If the
speed of the current would have been 5 km/h. Then the

boy could swim 60 km.

I A U Weh TTgehT 10 TeRtt/ = St TTfer | 7 Wehal §1 AT oRT i
Tt 5 ferdT/=ie &, Al TSt 60 Tt Tt Tora= @He | am?

(a) upstream in 4 hrs

(b) downstream in 12 hrs

(c) upstream in 6 hrs

(d) downstream in 4 hrs
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13. Speed of a boat is 5 km per hrs in still water and the
speed of the stream is 3 km per hrs. If the boat takes 3 hrs
to go to a place and come back, the distance of the place
is :

ITa T W AT ki Tiet 5 TRt /=ieT § e &Ry skt fa 3 Tertit /ieT B

Ife e 3 T W TRt gl ek STeRT aTad 1 ATl &, 9 T A1 o

(a) 3.75 km

(b) 4 km

(c) 4.8 km

(d) 4.25 km
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14. A man swims downstream a distance of 15 km in 1 hrs. If
the speed of the current is 5 km/hr, the time taken by the
man to swin the same distance upstream is :
ek ST &RT ahi Ta9T | 15 TeRtl Tt 1 e W oXaT §1 Al &R okt T
5 Fepeft /ot 3, Y ST 3 whereget o & et € g S & SR Reberr
U MY
(a) 1 hr 30 min
(b) 45 min
(c) 2 hr 30 min
(d) 3 hrs
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15.

A boat goes 12 km downstream and comes back to the
starting point in 3 hrs. If the speed of the current is 3
km/hr, then the speed (in km/hr) of the boat in still water
is :

Teh TTel &1 ot T & 12 fertito gt war vt € wwerm atRfes feig we 3
TS U aTqH 31T STt g1 I &y ht Wia 3 et /sieT &, v vria 5 o
TS SRt Tl AT i 7

(a) 12 kmm/h

(b) 9 km/h

(c) 8 km/h

(d) 6 km/h
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